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We are given the line L1 with equation y=3x+2.

a) Find the equation of a second line L2, so that it intersects the first line L1 at
the point (x,y)=(1,5) at a 90° angle.

b) A third line L3 has equation 2y-x=4. The three lines form a triangle. Find the
coordinates of the vertices of this triangle.

c) Finally, graph the three lines on the same coordinate system.
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We want to model the temperature of a room “T”, exactly “£” minutes after a
heater has been turned on.

After 18 minutes, the temperature in the room is 21.2°. Twelve minutes later,
the temperature has risen by another 3 degrees. We will assume that the
temperature is rising at a constant rate.

a) Find the model equation for T in terms of ¢.

b) What was the initial temperature in the room?

c¢) The room is heated to 28°. How long will this take? Give your answer as
minutes/seconds.

d) A second room was initially at 300, and was cooling at a constant rate of one
degree per minute. At what time will these two rooms have the exact same
temperature?
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